Fak_5_Maschinenbau_Master_SS18_

Profillinie

'|' Zusammenstellung: Fak_5_ Maschinenbau_Master_SS18_[MM]

|

Verwendete Werte in der Profillinie: Mittelwert

1. Organization

Information about organizational matters is sufficient applies - does not appl
9 PP ! PPY h=26  mw=1,73 md=2,00 s=0,72
Course work and examination requirements are applies L does not appl
made transparent a PP ‘ PPY h=26  mw=185 md=2,00 s=0,88
The content taught corresponds to the description of applies .|. does not appl
the module 2 P P PP PPY =20  mw=1,90 md=2,00 s=0,97
[ 2. Learning goals, didactics and methodology }
My previous knowledge is sufficient to be able to applies - does not apply
meet the requirements of the course /" n=26 mw=2,42 md=2,00 s=1,27
The educational goals of the course are clear applies ._/ does not apply
, n=26 mw=1,81 md=2,00 s=0,80
The course has a clearly recognizable concept (an applies J.‘ does not apply
ongoing theme throughout) n=25 mw=1,76 md=2,00 s=1,01
The course supports me in acquiring the contents applies \. does not appl
PP quinng PP e PPY n=25  mw=2,28 md=2,00 s=1,17
Students' questions and comprehension difficulties applies _|./ does not apply
are dealt with appropriately \ n=25 mw=1,60 md=1,00 s=0,82
Accompanying materials and offers are helpful applies \L does not appl
panying P PP I PPY n=24  mw=2,08 md=2,00 s=1,06
Study exercises, offers, consultations etc. are a applies L does not apply
good basis for the self-study / n=26 mw=2,23 md=2,00 s=1,27
There is a clear relationship to the objective of the applies ._1 does not apply
study n=25 mw=1,88 md=2,00 s=1,05
3. Own learning behaviour and workload
The course stimulates me to spend time on the applies - does not appl
contents P PP | PPY h=24  mw=242 md=2,00 s=1,25
The effort | expend on the self-study (including applies J. does not apply
preparation and follow-up, taking examinations ...) is n=23 mw=2,43 md=2,00 s=1,20
reasonable
[ 4. Overall evaluation }
All'in all: How satisfied are you with this course? completely | | - | | | | completely
satisfied | | | | | | unsatisfied n=26 mw=2,19 md=2,00 s=1,20
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